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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper..

2. There are eight quéstions in thé question paper.

Answer any six questions.

3. All questions carry equal mark.

4. Answers may be written either in English or Hindji:

but the same medium should be used throughout the
paper
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(a) What is Macroeconomics ? Explain the different

Macroeconomic issues in detail.

.,(b) What are the important consequences of the

differences in the classical and Keynesian views?
(10, 5)
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(a) Define private Saving.- How prlvate saving used

the economy ?
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(b) Discuss the Expenditure and Incom® app’ roac’

ct (GD P)-

measuring Gross Domestic Produ (5 5.10)
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3. Suppose the consumption function is girven by
C =100 + .8Y, with no government while 1nvestment

is given by I = 50.

(1) Wha't is the equilibrium level of income in this
case ? ' ‘

(i) What is the level of saving in equilibrium ?

(iii) If, for some reasomn, output is at the level of 800
what will the level of mvoluntary inventory

' accumulatlon be ?

f investment (1) rise to 100, what will the effect

(iv)1
ncome‘7

be on the equlllbrlum i
(v) Draw a diagram indicating the equilibria ip o
" (a) and (d). o . - i
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. (a) How are desired saving and desired consumption

‘affected by increases in current income] expected

future income, wealth and changes in real interest

rate ?
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5 Described by the following functions:

Consumption . =50 7 -xYD
Investment [=70
Government Expenditure G= 200
Transfers TR= 100

tax rate t= .20

(i) Calculate the equilibrium level of income and the

multiplier in this model.
(i1) Calculate also the budget surplus, BS.

(iii) Suppose that t increases to .25. What is the new
, equilibrium income? The new multiplier ?

(i\})Calculate the change in the budget surplus. Would

you expect the change in the surplus to be x
Oore

or less if € = 0 rather than .8 ?
(15)
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=70
G= 200
TR= 100

t=-20
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6. What are the
determinanyg of demand for ”"’“L/ ‘

Explain h
P ow the dummd for and suPPly of ((”'“l
;51 ml‘ ?

in an econom
Explain y with currency and chuckablu depo! 5]
u
sing formal analysis and diagrams. (15)
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7. (a) What is the difference between intermediate and
final goods and services ? Why is the distinction.
between intermediate and fmal goods 1mportant

for measurmg GDP?

~(b) How is the rate of mterest determined by the
demand and supply of money ? What happens to

the interest rate it

(i) Nominal income increases.

2 lv increases. ;
(i1) Money SuPpy . S (5,10 -
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8. Explain the followings:
() Monetary Aggregates

(i) GDP Deflator -

(iii)The Desired Capital Stock and the User Cost of

Capital )
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